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1. Determine whether the slope at the indicated point is positive,
negative, or zero.
a. None of these
b. Zero
c. No slope
d. Negative
e.)Positive

2. If f(x) = 2x2 + 4, which of the following will calculate the
derivative of f(x)?

[2(x + Ax)2 + 4] - (2x2 + 4)
. 1lim

Ax~0 Ax
b. [2(x + Ax)2 + 4] - (2x2 + 4)
Ax
c. (2x2 + 4 + Ax) - (2x2 + 4)
lim ,
Ax20 Ax
d. (2x2 + 4 + Ax) - (2x2 + 4)
Ax
e. None of these #77%‘)_5 5{&'"45
3. Find an equation of the tangent line to the graph of ﬂ@iff?”%;g :f’@}{l?i\“’z

f(x) = x2 - 2x - 3 at the point (-2, 5).

4./f1nd frix): f(x) = 4x% - 5x3 + 2x - 3. S~ T
a,)16x3 - 15x2 + 2 5 i e £ el g Zflgylf:
"’“{-)None of these /(9 ;{gw jggi@z &k “ ¢ WW,,EEY
c. 16x3 - 15x2 + 2x - 3 o —
d. 4x% - 5x3 + 2x

e. 4x3 - 5x2 + 2 S -
o =X/
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5. 1
Find f'(x): f(x) = —
x2

a. 2

x
b. - None of these
c 1

X
d. 1

x3
e 2
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0&’\G‘Q§(\iiﬁ 6. Let g(x) = 9f(x) and let f'(~6) = -6. Find g'(-6).

'S a. —6
Y
d. None of these
e. 0 '
- LAJ
7. Find the 1nstantaneous rate‘iof change of w with respect to z for
1 z e j =3,
w ="+ ", L/O - Z o3 5 )ﬁ
Q”‘
. z 2 ?
2 e
222 M 2 97 a
b. 3 £
2 ' - ’ge ¥
c. None of these R
d. -2 " T,
e. -1 o/\)g
z2

8. Find an equation for the tangent line to the graph of
fi(x) -2x2 + 2x + 3 at the point where x = 1.
a. y -4x + 2
b. y = —4x2 + 2x + 1

c: None of these p (ﬁ\ Lg)( ‘%/Z,m

Ci>2x+y—-1=0
e)2x + y =25 L
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9. - Find the point(s) on the graph of the function f(x) = x3 - 2 where the

pe Py, o, 3 INNE Q}Q ' de\\)

(11 "1)1 ("1r "'3) ’ 3 “
3 n ) }g R .
d. (1, 3) Lo -
e. None of these % - %ﬂg

- 10. Suppose the position equation for a moving object is given by

s(t) = 3t2 + 2t + 5 where s is measured in meters and t is measured
in seconds. Find the velocity of the object when t = 2.

a. 10 m/sec ’

b. 6 m/sec - ‘ S({,\):V({%jm @5%2 |

¢. None of these éﬁ ~ _ N 4 P o=
{Z§§14 m/sec Y Z )= 1o {é p+ 4

e. 13 m/sec Ay
DY+
11. Find the averagé/fate of change of y with respect to x on the interv:

[0, 5], where y = 2x2 + x - 3. oy N o
Pley - Flony  91- 3 AT
12 dy = =
- Find —: y = 4 sin x - 5 cos x + x. N S E
L‘ LD i)i”i + *;;;i;\}@%’;, 1 dx P .

a. 4 cos x + 5 sin x

b. ~4 cos x + 5 8in x + 1
c. None of these

T4 cos x + 5 sin x + 1
e. 4 cos x - 5 sin x + 1

13. The given graph of a position function represents the distance in miles
that a person drives during a l2-minute drive to school. Make a sketch
of the corresponding velocity function.
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o = )T (a2 — 3x(avd

Differentiate: y = .
. 5 |
x4 + 1 - 2
(1 + x2)2 : .
2.
b -——3 - 3\7{ + 3 ””%;:D‘é _
2x 5/ o 5 Z-
c. None of these LA )
d. - 3x2 - 3
(1 + x2)3
e. _ 3
1+ x2

15.

W@%"\‘e,\!\'%‘ h(x) = f(x)/g(x).

[ \ . a. -
\%m, £ 12

~ 1
Let f(7) =0, f'(7) =14, g(7) = 1 and g'(7) = —. Find h'(7) if
7

c. —14
d. 98 ‘
e. None of these

16. If f''(x) = -2x2 + 7x - 2, find f(4) (x). ,
a. ~4x + 7 o 2 :,/g

(oD NEA R

c. -2x + 7 ' - Pt -
d. None of these e o
e. 0 - 3

£ = L/X + ] - Y




